ADDITIONAL QUESTIONS

Note:  a further additional question is included as part of the additional material.
Consider the following scenario and answer the questions below:

Wallaby Computer Systems supplies an IT system to Boomerang plc.  The contract says Wallaby will be paid: £10,000 on delivery of the hardware and £10,000 on delivery of the software.  There is no problem with the hardware but the software does not work.

Question 1:  Can Boomerang repudiate ?

ANSWER:  Wallaby is clearly in breach of contract.  However, in order to be able to repudiate, Boomerang must show that the breach deprives it of substantially the whole benefit of the contract.  In this case, there would be some doubt about that because the hardware element works perfectly.  However, if Boomerang can show that it has no use for the hardware other than to run the software, it might be able to show that the breach in relation to the software effectively makes the hardware useless as well.  In that situation, Boomerang might well be able to repudiate.

Question 2:  Boomerang does not want to repudiate the contract because it wants Wallaby to fix the problem.  In order to bring pressure to bear on Wallaby, it wants to refuse to pay the entire £20,000.  Legally, can it withhold all of this money ?

ANSWER:  This depends in part on whether the contract is entire or divisible.  If the contract is entire, then the £20,000 is only payable on successful delivery of both the hardware and the software.  However, the contract specifies that £10,000 will be paid on delivery of the hardware and the remaining money on delivery of the software. This suggests that the £10,000 for the hardware cannot be withheld.  In that case, Boomerang could only withhold the money by arguing that it is entitled to “set-off” its costs against the amount owed to Wallaby.

